
Manufacturing costs drop as expertise grows,
for that process

-- better methods
-- better equipment
-- less waste (time, materials)

Yield = 1 - waste

-- #(devices sellable) versus #(devices produced)

-- #(devices sellable) versus (cost to produce them)

Commodity market

--- lots of vendors
--- selling same items

Invest in largest demand ==> production cost amortized ==> larger profit
hot-new ==> high price / low volume    ==> old-standard ==> low price



Standardization / Volume    ====>  market acceptance of innovations













CMOS power and energy consumption

1. Dynamic: energy converted to heat due to switching a logic gate's output (0-1 or 1-0).

2. Static: energy converted to heat due to (steady) leakage currents.








